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1. KakoBa dopmyna nMHEUHOWU

cbyHKLMNY = kx + b, rae k, b — HekoTopble
yaeme3aBMcumMas
nepemMeHHasl,

2. Yto ssriettH'IPEDNRSTY  Hifieitnon

byHKLMBaduk nuHenHon pyHKLNM -
3. Kak'PMidsLiBaeTcs
4ncno k? k - yrnoson koachduLmeHT

4. Kak mM8fP"pacnonaratbca npsmblie Ha

NMAOCKOCTU? MpamMblie moryT
nepeceKkaTbCA U

He nepeceKaTbCH
(6bITb NapannenbHbIMMU).



1. MocTponTe B 0.4HOU CUCTEME
KoopauHaT rpadoukm PyHKUNMN:




2. PelunTe ypaBHeHUA:

3X=3X+ 3X=-3Xx+2 3x+2=-3x+
@T1BeT: HeT OTtBeT % D1BET: 0
KppHskn He “padburku [padumku

nepecekarTc4d nepecekarTcd rnepeceKkarTc4
Ona dpyHKUunn y = kx +
b (MMHenHoN)

1. 'padpumkm yHKL NN
He nepeceKarTcd
(mapannenbHbl), ecnu
k,= k..

2. [padpuku pyHKUUK
rnepeceKkarTCqd, ecnu
k, % k..




